Dell OptiPlex 5270 All-in-One
Service Manual

D<A L Technologies




Notes, cautions, and warnings

@ NOTE: A NOTE indicates important information that helps you make better use of your product.

CAUTION: A CAUTION indicates either potential damage to hardware or loss of data and tells you how to avoid

the problem.

A WARNING: A WARNING indicates a potential for property damage, personal injury, or death.

© 2019 Dell Inc. or its subsidiaries. All rights reserved. Dell Technologies, Dell, and other trademarks are trademarks of Dell Inc. or its
subsidiaries. Other trademarks may be trademarks of their respective owners.



Contents

Chapter 1: Working on yoUr COMPUEEr.....c.iuieiireiirein s s s s e s s r e s r e e e s nmnen 6
R F= LY=L A U ] ] o TR 6
Turning off your COmMpPUTEr — WINAOWS T0....cuiiiieieiireeee ettt ettt eeeene s 6
Before Working iNSIAE YOUT COMPUTET ...ttt bbbkttt 7
After WOorking INSIAE YOUT COMPULET ......cieiiieiiiieietiiete ettt se sttt e st ete s e s e sbese s s e e ete s esessesessenessessenesaenes 7

Chapter 2: Technology and COmMPONENtS......cccieiiiiiiirirrararrriria s s s s s sarasasasasasnsnnnnsn 8
DIDRA. ettt h e h e £ E e E R £ e E R Rt £ E RS R £k R R £ £ SRR £ £ R SRR £ R R SR £ b h e Rtttk R ettt nen ettt ne e 8
USB EATUMES ...tttk bbb bbb bbb bbbt h bbb 10
FIDIMIL ekt h bbbk £ b bR E ek H R b b e b E R b bR e b bRt bbbt b bbbt 12

Chapter 3: Major components of your SyStem........cccieieiiiiioiiieri s s e s 13

Chapter 4: Removing and Installing components.......c.ccciiiiiiiiiiirecrerr i s s s nanas 15
RECOMMENTEA TOOIS. .ttt ettt b bt b e e E et e bbb e e e b et e s e et et e ket ek et et e ebentabe st abennas 15
Lo Y Y7 13 OSSPSR 16
NSV i a=T aa i oToX= 1o B =17 TN | (TR 17
0] 0] 0= LT OSSOSO 18

REMOVING the TUDDEI TEET ...t 18
[INSTAIING TNE FUDDET TEET...cii ittt ettt te bt e st et e e b eseebe st te st atesaeseesenes 19
CablE COVET = OPTIONAL ... ittt sttt ettt et te st e s e st e ss e b e b ebe st et e s b ese et essebe b ebe st etessesesbensarennas 20
REMOVING the CADIE COVET .....cuiiiiiiiicc ettt ettt 20
INSTAIING TNE CADIE COVET ...ttt ettt ettt et ettt e et et ete b e te b s e b s et e 21
RS 1 €= o OSSPSR 22
[ 1o )V TaTa I aT= ] = o OSSPSR 22
TaToye= ] T aTe T aTSTE=] €= o RSSO 23
T2 To] [ o0 1= USSP 24
REMOVING the DACK COVET ...ttt bbb 24
INSTAIING TNE DACK COVEI ..uiiiitiiiiie ettt bbbttt be b et et et e et ettt e be s ne s e s e nne e 25
=T e [ V7= TSSOSO 26
Removing the hard drive @SSEMIDIY ... ittt e et ene e 26
Installing the hard Arive @SSEMDIY ..ottt e et saesesaesesaenens 27
V1T aqle) YA aaTo Lo (81T U TR 28
Removing the MemMOry MOGAUIE........coiiiiic ettt 28
INStalling The MEMOIY MOAUIE......ci ittt ettt e bt e ebe st e te s et et e sesaeseesessareneas 29
YV i u= aa i oTe X1 e IR=1 111 (o TR 30
Removing the system DOard ShIElO...... ..o s 30
Installing the system DOard SHIEIA........ccoiiiiie et sae et 31
INTEI OPTANE. ...ttt ettt ettt b et e 4o b o4 et et e b a1 e a4 e st e b et ket et e bt e e b st e be bR e bR e b e st bt be bt e et et et er s b e 32
Removing the INtel OPTANE CArd.......o ettt se et te st te e te st e saeseeaensaneneas 32
INstalling the INTEI OPTANE CAI.......cciiiiiiiieie ettt sb e ettt bbb et et et s 33
SOl STATE DIIVE =SSD ...ttt ettt b bt e bt ek R et e bRt e e bR e et et be et e b ere et et 34
REMOVING ThE SSD CAIU.. oot ettt e ettt e ete b ese e es e et et ene st eneneenennas 34
[INSTAIING TNE SSD CANG. ..ttt ettt ettt st s e et s et et e e et e s s e s e e b e seebe e e te st esessenesaeseasenees 35

Contents 3



N Yo][To IS) = =T B A7 TR | O RO 36

RemoVving the 2230 SSD CaIQ.....cciiiieiieiiecesee ettt ettt bt e e b e s e e be st e be b e te st et e sbe s e etestabe s areseas 36
INSTAllNG ThE 2230 SSD CAIG. ... ieieiiieietie ettt ettt ettt e ettt ae et e e et et e et e b e e e e e e enene e e e e ene e nnes 37
LTI A e T o OSSP 38
ReMOVING ThE WLAN CAIG....iiiiieiiii ettt a s et et et et e ea et e sbe st abe st et et esesaeseabessateneas 38
INSTAING ThE WLAN CAIG...ciiiieeiie ettt ettt e et e e et b ettt es s et neeae s e e e enenes 40
LY 21 =T 0 0 2= TR 42
REMOVING The SYSTEM TAN....ciiiiice e bbbttt b se b e se et e e et s ene e 42
INSTAIING TNE SYSTEIM TAN ...tttk et e st e e st b et b e ee et e eeereebeneeb et e beseeseaneneaeenea 43
L 1= Y T SRS 44
Removing the Neat SINK = UMA ... ettt b et bbbt e b ne b e ea s 44
INStalling the NEat SINK = UMA ... e ettt s et e e e s et e s b e b e e e eeneneneanas 46
POP-UP CAMEIA...eeiiiitc bbbt bbbkt bbb bttt bbbkttt b et 48
REMOVING the POP-UD CABMETA...c..ciiciiciitieee ettt ettt bt bbb se st ettt ebe st ebe b ese b eseesesenas 48
INSTAIlING T POP=UD CABMIEIA. .. ettt ettt ettt e et e eees e e te st e be e e b e e et e eeeseeeeneebeneebeeaneaneseenenis 51
(O7o1 aINeT=T | o= L =Y Y2 PP 53
RemMOoVING the COIN COII DATTEIMNY ....iiiiiiciicice ettt b ettt te bt e st seea e re s 53
INSTAlliNG ThE COIN CEII DATTEIY ...ttt ettt ea et eneneenen 54
0T 7= 1T ] TSR 55
REMOVING TNE PIrOCES SO ..ttt ettt b et b et be st e e et e s e eb et e be b e be st et e st e e eae s ebe b ete e 55
INSTAIING TN PrOCESSON ..ttt ettt e st e b et e b e e e et e et es e e b e e b e e e b e eeeseeaes e ateneebe e abeaeareanens 56
T EY =10 Y ST 57
REMOVING ThE D8SE COVET .....cuiiiiice ettt sttt e et e et st e s e st e st be e ebe s enesbeneas 57
INSTAIING TN DASE COVET ...ttt ettt e ettt s e b etk e et et e ee e st eae st ete e e be e ebeenereanenis 59
POWET SUPPIY UNIT = PSU..oiiiiiiiiti ettt bbbttt bbbttt 60
Removing the power sUpply UNIt -PSU......cciiiiic e 60
Installing the power SUPPIY UNIT =PSU ..ot 63
Power sUpply UNIT FAN = PSU AN ...ttt bbbttt sttt sben e e ne e 64
Removing the power supply unit fan -PSU fan........cccciiiecce et 64
Installing the power sUpPly UNIt =PSU FAN.......cc et e 66
INPUL @NA OUTPUL DIFECKET ...t bbbt b bbbttt 68
Removing the Input and OUTPUTL DraCKET. ...ttt 68
Installing the INPUt aNd OUTPUT DIraCKET ... oottt eenanas 70
LY (=Ta 4 o To 1= e PSPPSRI 72
RemoVviNg the SYSTEM DO, ..ottt b ettt sb e be st abe s reeas 72
INSTAlliNG TE SYSTEM DOAIT. ...t ettt et b et b et a ettt er e b ne e e e 74
SPDEAKET S ..tttk bbb bR e R E R E R R £ E R h R bk AR bk bbb st b kbt b ettt b s 76
REMOVING ThE SPEAKETS ..ottt et b et bbb b b e et e s et b ebe b e s e b e s e et et et st ese b erenrs 76
INSTAIING TN SPEAKETS. ... ettt et e stttk ettt e e et e e e st e b et et e e et e eeeeeeeenesaeneateene 78
POWET DUTTON DO ...ttt bbbt bbbttt b ekttt 80
Removing the POWEr DUTTON DOAI ... ..ottt b et snenas 80
Installing the POWEr DUTTON DOAIT. .......iiiiieee ettt eae e es 81
VT OPNONES ...ttt bbb bbb bbb bbb bbb bbb bbb bbb 83
REMOVING the MICTOPNONES. ...ttt sttt ettt st se st e se et e e ebe s sesnens 83
INSTAIlING ThE MICTOPNONES. ... ittt et a etttk et b e e et e ee e st et et e be e e te e ereeens 85
INPUL @NA OUTPUL DO, ...ciiiieii ettt bbb bbbt b ket eb ettt en b 87
Removing the Input and OUTPUTL DOAIT.......ccviiiiiiiiie ettt sb e bbb nes 87
Installing the INPUt aNd OUTPUT DO .. .. oottt e e 89
HEAASET POIT .ttt bbb bbb bbb h bbb bbb bbbttt 91
ReMOVING the NEAASET PO . ittt ettt ettt et et te b et e st e s e eae st ebe s ate e 91

Contents



INSTAIING ThE NEAASET POIT.. ittt bbb b bbb bbb 92

ANTEEIINEGS ...ttt 93
REMOVING ThE GNTENNGS. ... ittt ettt e ettt be e b e b e st e b e b et ebe e en et e st eee e e 93
INSTAIIING T BNTENMNAS. ... ittt bbbkttt sttt ettt 95

] o] = 1Y o= 1= O PUSPTSRPSRRRR 97
RemoVINg the diSPlay PANEL.......c ettt sttt eb e e e 97
INSTaIlNG ThE AISPIAY PANEL.....ciiiiicei bbbttt ettt 99

] o] = YA o= ][ TSROSO PRRPRTRRPN 101
RemoVINg the diSPlay CADIE. ..o ettt ettt ettt n e ne b ne e 101
INSTAlliNG ThE AISPIAY CADIE. ... ittt ettt ns e s e eae st ete e e re e arennns 102

IMIAAIE FTAIMIE. ...ttt ettt 104
RemoVvIiNg the MIAAIE TrAME... ..o ettt a et se e eae e 104
Tars =] g Te TR a TSR aalTo Lo | F=T =T 1TSS 105

Chapter 5: Troubleshooting your COMPULer.......cciieiiiiiiri i s e e e 108

Enhanced Pre-Boot System Assessment — ePSA diagNOSTiCS.. ..o 108
RUNNING T EPSA DIagnOSTICS. . e eiveeiiiieieeee ettt ettt ettt ettt ettt eer et eeene e e e ene e 108

DIBGNOSTICS .ttt bbbtk E k£ E kR bR h Rkt kbbb 108

CAMETa STATUS INAICATON ...ttt b bbb bbb bbb 109

LCD DUIIT N SEIT TEST = BIST .ttt ettt et e ettt ee et eeere e 109

Chapter 6: Getting help... .o s e s s s s s nmnnas M

(@7 a1 €= o 11T D =11 PSPPSR (K

Contents 5



Working on your computer

Topics:

. Safety instructions

e Turning off your computer — Windows 10
*  Before working inside your computer

e After working inside your computer

Safety instructions

Use the following safety guidelines to protect your computer from potential damage and to ensure your personal safety. Unless
otherwise noted, each procedure included in this document assumes that the following conditions exist:
e You have read the safety information that shipped with your computer.

e A component can be replaced or, if purchased separately, installed by performing the removal procedure in the reverse
order.

@ NOTE: Disconnect all power sources before opening the computer cover or panels. After you finish working inside the
computer, replace all covers, panels, and screws before connecting to the power source.

@ NOTE: Before working inside your computer, read the safety information that shipped with your computer. For additional
safety best practices information, see the Regulatory Compliance Homepage at www.dell.com/regulatory_compliance

CAUTION: Many repairs may only be done by a certified service technician. You should only perform
troubleshooting and simple repairs as authorized in your product documentation, or as directed by the online or
telephone service and support team. Damage due to servicing that is not authorized by Dell is not covered by
your warranty. Read and follow the safety instructions that came with the product.

CAUTION: To avoid electrostatic discharge, ground yourself by using a wrist grounding strap or by periodically
touching an unpainted metal surface that is grounded to ground yourself before you touch the computer to
perform any disassembly tasks.

CAUTION: Handle components and cards with care. Do not touch the components or contacts on a card. Hold a
card by its edges or by its metal mounting bracket. Hold a component such as a processor by its edges, not by
its pins.

CAUTION: When you disconnect a cable, pull on its connector or on its pull-tab, not on the cable itself. Some
cables have connectors with locking tabs; if you are disconnecting this type of cable, press in on the locking
tabs before you disconnect the cable. As you pull connectors apart, keep them evenly aligned to avoid bending
any connector pins. Also, before you connect a cable, ensure that both connectors are correctly oriented and
aligned.

@ NOTE: The color of your computer and certain components may appear differently than shown in this document.

Turning off your computer — Windows 10

CAUTION: To avoid losing data, save and close all open files and exit all open programs before you turn off your
computer or remove the side cover.

1. Click or tap E

6 Working on your computer



I
2. Click or tap O and then click or tap Shut down.

@ NOTE: Ensure that the computer and all attached devices are turned off. If your computer and attached devices did not
automatically turn off when you shut down your operating system, press and hold the power button for about 6 seconds
to turn them off.

Before working inside your computer

1. Ensure that your work surface is flat and clean to prevent the computer cover from being scratched.
2. Turn off your computer.
3. Disconnect all network cables from the computer (if available).

CAUTION: If your computer has an RJ45 port, disconnect the network cable by first unplugging the cable
from your computer.

4. Disconnect your computer and all attached devices from their electrical outlets.
B. Open the display.
6. Press and hold the power button for few seconds, to ground the system board.

CAUTION: To guard against electrical shock unplug your computer from the electrical outlet before
performing Step # 8.

CAUTION: To avoid electrostatic discharge, ground yourself by using a wrist grounding strap or by
periodically touching an unpainted metal surface at the same time as touching a connector on the back
of the computer.

7. Remove any installed ExpressCards or Smart Cards from the appropriate slots.

After working inside your computer

After you complete any replacement procedure, ensure that you connect external devices, cards, and cables before turning on
your computer.

CAUTION: To avoid damage to the computer, use only the battery designed for this particular Dell computer. Do
not use batteries designed for other Dell computers.

1. Connect any external devices, such as a port replicator or media base, and replace any cards, such as an ExpressCard.
2. Connect any telephone or network cables to your computer.

CAUTION: To connect a network cable, first plug the cable into the network device and then plug it into the
computer.

3. Connect your computer and all attached devices to their electrical outlets.
4. Turn on your computer.

Working on your computer 7



Technology and components

This chapter details the technology and components available in the system.

Topics:
e« DDR4
. USB features
e HDMI

DDRA4

DDR4 (double data rate fourth generation) memory is a higher-speed successor to the DDR2 and DDR3 technologies and
allows up to 512 GB in capacity, compared to the DDR3's maximum capacity of 128 GB per DIMM. DDR4 synchronous dynamic
random-access memory is keyed differently from both SDRAM and DDR to prevent the user from installing the wrong type of

memory into the system.

DDRA4 needs 20 percent less or just 1.2 volts, compared to DDR3 which requires 1.5 volts of electrical power to operate. DDR4
also supports a new, deep power-down mode that allows the host device to go into standby without needing to refresh its
memory. Deep power-down mode is expected to reduce standby power consumption by 40 to 50 percent.

Key Specifications

The following table lists the specifications' comparison between DDR3 and DDRA4:

Table 1. DDR3 vs DDR4

Feature/Option

DDR3

DDR4

DDR 4 Advantages

Chip Densities

512 Mb-8 Gb

4 Gb-16 Gb

Larger DIMM capacities

Data rates

800 Mb/s-2133 Mb/s

1600 Mb/s-3200 Mb/s

Migration to higher speed 1/0

Voltage

1.5V

12V

Reduced memory power
demand

Low voltage standard

Yes (DDR3L at 1.35V)

Anticipated at 1.05V

Memory Power Reductions

Internal banks

8

16

Higher data rates

Bank groups (BG)

0

4

Faster burst accesses

VREF inputs

2 —DQ@s and CMD/ADDR

1 — CMD/ADDR

VREFDQ Now Internal

tCK — DLL Enabled

300 Mhz-800 Mhz

667Mhz-1.6Ghz

Higher data rates

tCK — DLL Disabled

10MHz - 125MHz (optional)

Undefined to 125MHz

DLL-off now fully supported

Read Latency AL+CL AL+CL Expanded values

Write Latency AL+CWL AL+CWL Expanded values

DQ Driver (ALT) 40&0Omega 48&0Omega Optimal for PtP Applications
DQ Bus SSTL15 POD12 Less I/0 Noise and Power

RTT Values (in &0Omega)

120,60,40,30,20

240,120,80,60,48,40,34

Support for higher data rates

RTT not allowed

READ Bursts

Disables during READ Bursts

Ease of use

8 Technology and components



Table 1. DDR3 vs DDR4 (continued)

Feature/Option

DDR3

DDRA4

DDR 4 Advantages

ODT Modes Nominal, Dynamic Nominal, Dynamic,Park Add’l Control Mode; OTF
Value Change
ODT Control ODT Signaling Required ODT Signaling Not Required Ease of ODT Control; Allows

Non-ODT Routing, PtP Apps

Multi-Purpose Register

Four Registers — 1 Defined, 3
RFU

Four Registers — 3 Defined, 1
RFU

Provides Additional Specialty
Readout

GDM

DIMM Types RDIMM, LRDIMM, UDIMM, RDIMM, LRDIMM, UDIMM,
SODIMM SODIMM
DIMM Pins 240 (R, LR, U); 204 288 (R, LR, U); 260
(SODIMM) (SODIMM)
RAS ECC CRC, Parity, Addressability, More RAS features; improved

data integrity

DDRA4 Details

There are subtle differences between DDR3 and DDR4 memory modules, as listed below.

Key notch difference

The key notch on a DDR4 module is in a different location from the key notch on a DDR3 module. Both notches are on the
insertion edge, but the notch location on the DDR4 is slightly different, to prevent the module from being installed into an

incompatible board or platform.

Figure 1. Notch difference

Increased thickness

DDR4 modules are slightly thicker than DDR3, to accommodate more signal layers.

DDR4

Figure 2. Thickness difference

Curved edge

DDR4 modules feature a curved edge to help with insertion and alleviate stress on the PCB during memory installation.

Technology and components




Figure 3. Curved edge

USB features

Universal Serial Bus, or USB, was introduced in 1996. It dramatically simplified the connection between host computers and
peripheral devices like mice, keyboards, external drivers, and printers.

Table 2. USB evolution

Type Data Transfer Rate Category Introduction Year
USB 2.0 480 Mbps High Speed 2000

USB 3.0/USB 3.1 Gen |5 Gbps SuperSpeed 2010

1

USB 3.1 Gen 2 10 Gbps SuperSpeed 2013

USB 3.0/USB 3.1 Gen 1 (SuperSpeed USB)

For years, the USB 2.0 has been firmly entrenched as the de facto interface standard in the PC world with about 6 billion
devices sold, and yet the need for more speed grows by ever faster computing hardware and ever greater bandwidth demands.
The USB 3.0/USB 3.1 Gen 1 finally has the answer to the consumers' demands with a theoretically 10 times faster than its
predecessor. In a nutshell, USB 3.1 Gen 1 features are as follows:

Higher transfer rates (up to 5 Gbps)

Increased maximum bus power and increased device current draw to better accommodate power-hungry devices
New power management features

Full-duplex data transfers and support for new transfer types

Backward USB 2.0 compatibility

New connectors and cable

The topics below cover some of the most commonly asked questions regarding USB 3.0/USB 3.1 Gen 1.

SUPERSPEED
--------- 2
Stm

Speed

Currently, there are 3 speed modes defined by the latest USB 3.0/USB 3.1 Gen 1 specification. They are Super-Speed, Hi-Speed
and Full-Speed. The new SuperSpeed mode has a transfer rate of 4.8 Gbps. While the specification retains Hi-Speed, and
Full-Speed USB mode, commonly known as USB 2.0 and 1.1 respectively, the slower modes still operate at 480 Mbps and 12
Mbps respectively and are kept to maintain backward compatibility.

USB 3.0/USB 3.1 Gen 1 achieves the much higher performance by the technical changes below:

An additional physical bus that is added in parallel with the existing USB 2.0 bus (refer to the picture below).

USB 2.0 previously had four wires (power, ground, and a pair for differential data); USB 3.0/USB 3.1 Gen 1 adds four more
for two pairs of differential signals (receive and transmit) for a combined total of eight connections in the connectors and
cabling.

10 Technology and components




e USB 3.0/USB 3.1 Gen 1 utilizes the bidirectional data interface, rather than USB 2.0's half-duplex arrangement. This gives a
10-fold increase in theoretical bandwidth.

Gnd USB3 contacts

High speed USB2 contacts
differential pair

With today's ever increasing demands placed on data transfers with high-definition video content, terabyte storage devices,
high megapixel count digital cameras etc., USB 2.0 may not be fast enough. Furthermore, no USB 2.0 connection could ever
come close to the 480Mbps theoretical maximum throughput, making data transfer at around 320 Mbps (40 MB/s) — the
actual real-world maximum. Similarly, USB 3.0/USB 3.1 Gen 1 connections will never achieve 4.8Gbps. We will likely see a
real-world maximum rate of 400MB/s with overheads. At this speed, USB 3.0/USB 3.1 Gen 1is a 10x improvement over USB
2.0.

Applications

USB 3.0/USB 3.1 Gen 1 opens up the laneways and provides more headroom for devices to deliver a better overall

experience. Where USB video was barely tolerable previously (both from a maximum resolution, latency, and video compression
perspective), it's easy to imagine that with 5-10 times the bandwidth available, USB video solutions should work that much
better. Single-link DVI requires almost 2Gbps throughput. Where 480Mbps was limiting, 5Gbps is more than promising. With its
promised 4.8Gbps speed, the standard will find its way into some products that previously weren't USB territory, like external
RAID storage systems.

Listed below are some of the available SuperSpeed USB 3.0/USB 3.1 Gen 1 products:

External Desktop USB 3.0/USB 3.1 Gen 1 Hard Drives
Portable USB 3.0/USB 3.1 Gen 1 Hard Drives

USB 3.0/USB 3.1 Gen 1 Drive Docks & Adapters

USB 3.0/USB 3.1 Gen 1 Flash Drives & Readers

USB 3.0/USB 3.1 Gen 1 Solid-state Drives

USB 3.0/7USB 3.1 Gen 1 RAIDs

Optical Media Drives

Multimedia Devices

Networking

USB 3.0/USB 3.1 Gen 1 Adapter Cards & Hubs

Compatibility

The good news is that USB 3.0/USB 3.1 Gen 1 has been carefully planned from the start to peacefully co-exist with USB 2.0.
First of all, while USB 3.0/USB 3.1 Gen 1 specifies new physical connections and thus new cables to take advantage of the
higher speed capability of the new protocol, the connector itself remains the same rectangular shape with the four USB 2.0
contacts in the exact same location as before. Five new connections to carry receive and transmitted data independently are
present on USB 3.0/USB 3.1 Gen 1 cables and only come into contact when connected to a proper SuperSpeed USB connection.

Technology and components 11



HDMI

This topic explains the HDMI 2.0 and its features along with the advantages.

HDMI (High-Definition Multimedia Interface) is an industry-supported, uncompressed, all-digital audio/video interface. HDMI
provides an interface between any compatible digital audio/video source, such as a DVD player, or A/V receiver and a
compatible digital audio and/or video monitor, such as a digital TV (DTV). The intended applications for HDMI TVs, and DVD
players. The primary advantage is cable reduction and content protection provisions. HDMI supports standard, enhanced, or
high-definition video, plus multichannel digital audio on a single cable.

®| NOTE: The HDMI 1.4 will provide 5.1 channel audio support.

HDMI 2.0 Features

HDMI Ethernet Channel - Adds high-speed networking to an HDMI link, allowing users to take full advantage of their
IP-enabled devices without a separate Ethernet cable

Audio Return Channel - Allows an HDMI-connected TV with a built-in tuner to send audio data "upstream" to a surround
audio system, eliminating the need for a separate audio cable

3D - Defines input/output protocols for major 3D video formats, paving the way for true 3D gaming and 3D home theater
applications

Content Type - Real-time signaling of content types between display and source devices, enabling a TV to optimize picture
settings based on content type

Additional Color Spaces - Adds support for additional color models used in digital photography and computer graphics

4K Support - Enables video resolutions far beyond 1080p, supporting next-generation displays that will rival the Digital
Cinema systems used in many commercial movie theaters

HDMI Micro Connector - A new, smaller connector for phones and other portable devices, supporting video resolutions up
to 1080p

Automotive Connection System - New cables and connectors for automotive video systems, designed to meet the unique
demands of the motoring environment while delivering true HD quality

Advantages of HDMI

12

Quality HDMI transfers uncompressed digital audio and video for the highest, crispest image quality.

Low -cost HDMI provides the quality and functionality of a digital interface while also supporting uncompressed video
formats in a simple, cost-effective manner

Audio HDMI supports multiple audio formats from standard stereo to multichannel surround sound

HDMI combines video and multichannel audio into a single cable, eliminating the cost, complexity, and confusion of multiple
cables currently used in A/V systems

HDMI supports communication between the video source (such as a DVD player) and the DTV, enabling new functionality

Technology and components



©@®NO O NGNS

-~ o 2 a2 A a2 o
NO o NWN=O0

Major components of your system

Stand

Hard drive

Camera assembly cover
Heat sink

System fan

Speakers

Memory module

System board

Input and Output bracket

. Input and Output board shield
. Input and Output board

. Headset port

. Middle frame

. Microphones

. Display assembly base

. Power button board

. Display panel

Major components of your system

13



18. Power supply unit - PSU

19. WLAN card

20. WLAN card shield

21. Power supply unit fan - PSU fan

22. Processor

23. Pop-up camera assembly

24. System board shield

25. DIMM door

26. Base cover

27. Back cover

@ NOTE: Dell provides a list of components and their part numbers for the original system configuration purchased. These
parts are available according to warranty coverages purchased by the customer. Contact your Dell sales representative for
purchase options.

14 Major components of your system



Removing and Installing components

Topics:

. Recommended tools

e Screw size list

¢ System board layout
¢ Rubber feet

»  Cable cover - optional

. Stand
. Back cover
. Hard drive

. Memory module

e System board shield

¢ Intel Optane

*  Solid State Drive -SSD

e Solid State Drive -2230
¢ WLAN card

. System fan

*  Heat sink

e Pop-Up Camera

. Coin cell battery

. Processor

e Base cover

e Power supply unit - PSU
¢ Power supply unit fan - PSU fan
* Input and Output bracket
. System board

e Speakers

¢« Power button board

*  Microphones

¢ Input and Output board
¢ Headset port

« Antennas

¢ Display panel

* Display cable

* Middle frame

Recommended tools

The procedures in this document may require the following tools:
e Phillips #0 screwdriver

e Phillips #1 screwdriver

e Plastic scribe-Recommended for field technician

Removing and Installing components

15



Screw size list

Table 3. OptiPlex 5270 All-in-One

Component Screw type Quantity Screw image
Cable cover M3x9 1 ?
System board shield M3x5 5 ‘; :)
Solid-state drive/Intel Optane | M2x2.5 1 @
card

WLAN card shield M2x2.5 2 @
WLAN card M2x2.5 1 @
System fan M3 x5 3 G@)
Pop-up camera assembly M3x5 2 ‘E :)
Pop-up camera bezel M3x5 5 ‘; :)
Base cover M3x5 4 G:\)
PSU cable M3x5 1 G:\)
Power supply unit—PSU M3x5 1 G:\)
Power supply unit fan—PSU M3x5 2 & D
fan g
Input and Output bracket M3x5 3 ‘; :)
System board M3x5 9 ‘i” :)
Speakers M3 4+7.1 XZN 4 @
Power button board M3x5 1 ‘E@)

16 Removing and Installing components




Table 3. OptiPlex 5270 All-in-One (continued)

Component Screw type Quantity Screw image
Microphone M2x2.5 2 @

Input and Output board shield | M3x5 2 ‘@’

Input and Output board M2.5x3.5 2 @

Headset port M3x5 1 ‘@’
Antennas M2x2.5 2 @

Display panel M3x5 8 ‘@’

Middle frame M3x5 " ’

System board layout

OptiPlex 5270 All-in-One

Removing and Installing components

17




22

21

20

19

18

© N oo

M.
13.
15.
17.
19.
21.

R

Removing the rubber feet

1.

18

PSU power connector
Memory slots

Touch screen cable connector
System fan connector

Service mode jumper/Password clear jumper/CMOS clear

jumper

SPI header

SIO signal connector
UAJ connector

Coin cell battery
M.2 WLAN slot

PSU fan connector

ubber feet

PCB MADE (TN CHII

17

® 2 HN

10.

Follow the procedure in Before working inside your computer.

Removing and Installing components

10

1

6 15 14 13 12

Processor

Webcam connector
M.2 PCle/SATA slot
LPC_Debug

SATA HDD slot

. DMIC connector

. SIO power connector

. INT_SPK connector

. LVDS connector

.Power board button connector
. Back light connector



2. Remove the Stand.
3. Pry the rubber feet at the bottom edge from the display assembly base and pull it out.

Installing the rubber feet

1. Align the rubber feet with the slots on the display assembly base and push it firmly in place.

Removing and Installing components 19



2. Install the Stand.
3. Follow the procedure in After working inside your computer

Cable cover - optional

Removing the cable cover

Follow the procedure in Before working inside your computer.

Remove the Stand.

Remove the single (M3x9) screw that secures the cable cover to the base cover [1].
Lift the cable cover off the base cover [2].

N N

20 Removing and Installing components



Installing the cable cover

1. Place the cable cover on the base cover [1].
2. Replace the single (M3x9) screw the secures the cable cover to the base cover [2].

Removing and Installing components 21



3. Install the Stand.
4. Follow the procedure in After working inside your computer

Stand

Removing the stand

The following procedure applies only to systems that are shipped with a Height adjustable stand (HAS) stand :

1. Follow the procedure in Before working inside your computer.
2. To avoid damaging the display, place the system on a flat, soft, and clean surface .
3. Toremove the stand:

a. Press and slide the release tab forward on the cover [1].

b. Hold the tab in the release position and lift the stand upward [2].

c. Slide downward to lift the stand off the back cover [3].

22 Removing and Installing components



Installing the stand

The following procedure applies only to systems that are shipped with a Height adjustable stand (HAS) stand :

1. Toinstall the stand :

a. Align the tabs on the stand [1].
b. Snap the stand into place on the back cover [2].

Removing and Installing components 23



2. Follow the procedure in After working inside your computer

Back cover

Removing the back cover

1. Follow the procedure in Before working inside your computer.
2. Remove the Stand.

3. Press and hold the tab on the back cover to release it from the latch on the system-board shield and slide the back cover in
the direction shown to release it from the middle frame [1].

4. Lift the back cover from the middle frame and the system-board shield [2].

24 Removing and Installing components



Installing the back cover

1. Place the back cover on the system.
2. Press and hold the tab [1], and align the notches on the back cover with the slots on the middle frame.
3. Slide the back cover in the direction shown to lock the back cover tab under the latch on the system-board shield [2].

Removing and Installing components 25



4. Install the Stand.
5. Follow the procedure in After working inside your computer.

Hard drive

Removing the hard drive assembly

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:
a. Stand
b. Back cover
3. Toremove the hard drive assembly:
a. Press down the tab securing the hard drive assembly to the system board shield [1].
b. Slide and lift the hard drive assembly from the slot on the display assembly base [2].

26 Removing and Installing components



4, Toremove the hard drive bracket:

a. Pry the tabs on hard drive bracket from its slots on the hard drive [1].
b. Slide the hard drive, and lift it away from the bracket [2].

Installing the hard drive assembly

1. Toinstall the hard drive bracket:

a. Align the tabs on the hard drive bracket with the slots on the hard drive [1].
b. Flex the hard drive bracket, and replace the remaining tabs on the hard drive bracket with the slots on the hard drive [2].

Removing and Installing components 27



2. Toinstall the hard drive assembly:

a. Place the hard drive assembly into the slot [1].
b. Slide it to lock the blue tab on the hard drive assembly to the metal tab on the display assembly base [2].

3. Install the following components:

a. Back cover
b. Stand

4. Follow the procedure in After working inside your computer.

Memory module
Removing the memory module

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

28 Removing and Installing components



a. Stand
b. Back cover
3. To locate the memory module on the system board, pry open the DIMM door on the system board shield [1].

4. Pry the retention clips at each end of the memory module slot until the memory module pops up [2].
B. Lift the memory module from the memory module slot [3].

@ NOTE: Depending on the configuration ordered, your system may have up to two memory modules installed on the
system board.

Installing the memory module

1. Align the notch on the memory module with the tab on the memory module slot, and slide it firmly into the slot at an angle

(1.
2. Press the memory module down until it clicks into place [2].
3. Align the tabs on the DIMM door with the slots on the system board shield and snap it into place [3].

Removing and Installing components 29



4. Install the following components:

a. Back cover
b. Stand

5. Follow the procedure in After working inside your computer.

System board shield

Removing the system board shield

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

a. Stand
b. Back cover

3. Remove the five (M3x5) screws that secure the system board shield to the display assembly base [1].
4. Lift the system board shield off the display assembly base [2].

30 Removing and Installing components



Installing the system board shield

1. Place the system board shield on system board.
2. Align the slots on the system board shield with the slots on the display assembly base [1].
3. Replace the five screws (M3x5) that secure the system-board shield to the display assembly base [2].

Removing and Installing components 31



|1

4. Install the following components:

a. Back cover
b. Stand

5. Follow the procedure in After working inside your computer.

Intel Optane

Removing the Intel Optane card

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

a. Stand

b. Back cover

c. System board shield

3. Remove the screw (M2x2.5) that secures the Intel Optane card to the system board [1].
4. Slide and remove the Intel Optane card from the card slot on the system board [2].
5. Remove the thermal pad [3].

32 Removing and Installing components



Installing the Intel Optane card

1. Replace the thermal pad on the rectangular outline marked on the system board [1].
2. Insert the Intel Optane card into the card slot on the system board [2].
3. Replace the screw (M2x2.5) that secures the Intel Optane card to the system board [3].

®|NOTE: Intel Optane modules must be installed with a thermal pad.

Removing and Installing components 33



4. Install the following components:

a. System board shield
b. Back cover
c. Stand

B. Follow the procedure in After working inside your computer.

Solid State Drive -SSD

Removing the SSD card

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

a. Stand

b. Back cover

¢. System board shield

3. Remove the screw (M2x2.5) that secures the SSD card to the system board [1].
4. Slide and remove the SSD card from the card slot on the system board [2].
5. Remove the thermal pad [3].
@ NOTE: M.2 PCle SSD with capacity over 512G (512G/1TB/2TB) must be installed with a thermal pad. M.2 SATA SSD
and M.2 PCle SSD with 128G and 256G do not require a thermal pad.

34 Removing and Installing components



Installing the SSD card

1. Replace the thermal pad on the rectangular outline marked on the system board [1].

@ NOTE: M.2 PCle SSD with capacity over 512G (512G/1TB/2TB) must be installed with a thermal pad. M.2 SATA SSD
and M.2 PCle SSD with 128G and 256G do not require a thermal pad.

2. Insert the SSD card into the card slot on the system board [2].
3. Replace the screw (M2x2.5) that secures the SSD card to the system board [3].

Removing and Installing components 35



4. Install the following components:

a. System board shield
b. Back cover
c. Stand

B. Follow the procedure in After working inside your computer.

Solid State Drive -2230

Removing the 2230 SSD card

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

a. Stand

b. Back cover

¢. System board shield

3. Remove the screw (M2x2.5) that secures the SSD card to the system board [1].
4. Slide and remove the SSD card from the card slot on the system board [2].
5. Remove the thermal pad [3].

36 Removing and Installing components



Installing the 2230 SSD card

1. Replace the thermal pad on the rectangular outline marked on the system board [1].

2. Insert the SSD card into the card slot on the system board [2].
3. Replace the screw (M2x2.5) that secures the SSD card to the system board [3].

Removing and Installing components 37



4. Install the following components:

a. System board shield
b. Back cover
c. Stand
B. Follow the procedure in After working inside your computer.

WLAN card

Removing the WLAN card

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:
a. Stand
b. Back cover
¢. System board shield
3. Toremove the WLAN card shield:
a. Remove the two screws (M2x2.5) that secure the WLAN card shield to the system board [1].
b. Remove the WLAN card shield from the system board [2].

38 Removing and Installing components



4. Toremove the WLAN card:
a. Remove the screw (M2x2.5) that secures the WLAN card bracket and the WLAN to the system board [1].
Slide and lift the WLANSs card bracket off the WLAN card [2].
Disconnect the antenna cables from the WLAN card [3].
Slide and remove the WLAN card out of the WLAN card slot [4].

aoo

Removing and Installing components 39



Installing the WLAN card

1.

40

To install the WLAN card:

a.

Align and replace the WLAN card into the WLAN card slot [1].

b. Connect the antenna cables to the WLAN card [2].
C.
d. Replace the screw (M2x2.5) that secures the WLAN card bracket and the WLAN to the system board [4].

Replace the WLAN card bracket on the WLAN card [3].

Removing and Installing components



2. Toinstall the WLAN card shield:

a. Align the screw slot on the WLAN card shield with the screw slot on the system board and place the WLAN card shield
on the system board [1].

b. Replace the two screws (M2x2.5) that secure the WLAN card shield to the system board [2]

Removing and Installing components 11



3. Install the following components:

a. system board shield
b. Back cover
c. Stand

4. Follow the procedure in After working inside your computer.

System fan

Removing the system fan

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

a. Stand

b. Back cover

¢. System board shield

3. Disconnect the system fan cable from the socket on the system board [1].
4. Remove the three screws (M3x5) that secure the system fan to the display assembly base [2].
B. Lift the system fan away from the system [3].

42 Removing and Installing components



Installing the system fan

1. Align the screw slots on the system fan with the screw slots on the display assembly base [1].
2. Replace the three screws (M3x5) that secure the system fan to the display assembly base [2].
3. Connect the system fan cable to the socket on the system board [3].

Removing and Installing components 43



4. Install the following components:

a. System board shield
b. Back cover
c. Stand
B. Follow the procedure in After working inside your computer.

Heat sink

Removing the heat sink - UMA

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:
a. Stand
b. Back cover
¢. System board shield
d. System fan
3. Loosen the five captive screws in a sequential order [ 1,2,3,4,5] as mentioned on the heat sink..

44 Removing and Installing components



4. Lift the heat sink off the system board and display assembly base .

Removing and Installing components 45



Installing the heat sink - UMA

1. Align the captive screws on the heat sink with the screw slots on the system board and the display assembly base ..

46 Removing and Installing components



2. Tighten the five captive screws in a sequential order [1,2,3,4,5] to secure the heat sink to the system board and display
assembly base..

Removing and Installing components 47



3. Install the following components:

a. System fan

b. System board shield
c. Back cover

d. Stand

4. Follow the procedure in After working inside your computer.

Pop-Up Camera

Removing the pop-up camera

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

a. Stand

b. Back cover

c. System board shield

3. To remove the camera assembly cover:

a. Remove the two screws (M3x5) that secure the camera assembly cover to the middle frame [1].
b. Lift the camera assembly cover away from the middle frame [2].
c. Disconnect the camera cable from the system board [3].

48 Removing and Installing components



4. Toremove the pop-up camera assembly:

a. Remove the two screws (M3x5) that secure the pop-up camera assembly to the middle frame [1].
b. Slide the pop-up camera assembly forward [2].
c. Toremove the pop-up camera assembly off the middle frame, unroute the camera cable from the routing channel [3].

Removing and Installing components 49



5. To remove the pop-up camera bezel:
a. Press the top of the pop-up camera assembly to extend the pop-up camera.
b. Remove the three screws (M3x5) that secure the bezel to the pop-up camera assembly [2].
c. Lift the pop-up camera bezel off the pop-up camera assembly [3].

6. To remove the pop-up camera module:

a. Release the camera module from the tab [1].
b. Remove the camera module along with the camera cable off the pop-up camera assembly [2].

50 Removing and Installing components



Installing the pop-up camera

1. Follow the procedure in After working inside your computer.

2. Toinstall the pop-up camera module:
a. Replace the camera module along with the camera cable in the slot on the pop-up camera assembly [1].
b. Snap the pop-up camera assembly in place to the tab [2].

3. Toinstall the pop-up camera bezel:
a. Align the screw slots on the pop-up camera bezel with the screw slots on the pop-up camera assembly [1].
b. Replace the three screws (M3x5) that secure the pop-up camera bezel to the pop-up camera assembly [2].
c. Toretract the pop-up camera, press the top of the pop-up camera assembly[3].

Removing and Installing components

51



4. To install the pop-up camera assembly:
a. Route the camera cable through to the routing channel [1].
b. Align and place the pop-up camera assembly on the display panel base [2].
C. Replace the two screws (M3x5) that secure the pop-up camera assembly to the middle frame [3].

5. To replace the camera assembly cover:

a. Connect the camera cable to the system board [1].
b. Align and place the pop-up camera assembly cover on the middle frame [2].
c. Replace the two screws (M3x5) that secure the camera assembly cover to the middle frame [3].

52 Removing and Installing components



6. Install the following components:

a. System board shield
b. Back cover
¢. Stand

Coin cell battery

Removing the coin cell battery

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

a. Stand
b. Back cover
c. System board shield

3. Press the tab on the coin cell battery socket until the coin cell battery pops up [1].
4. Lift the coin cell battery out of the coin cell battery socket [2].

Removing and Installing components 53



Installing the coin cell battery

1. Insert the coin cell battery into the battery socket on the system board, with the positive side facing up [1].
2. Press down the battery into place until it fits securely [2].

54 Removing and Installing components



3. Install the following components:
a. System board shield
b. Back cover
c. Stand

4. Follow the procedure in After working inside your computer.

Processor

Removing the processor

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:
a. Stand
b. Back cover
c. System board shield
d. Heat sink
3. To remove the processor:
a. Release the socket lever by pushing the lever down and out from under the tab on the processor shield [1].
b. Lift the lever upward, and lift the processor shield [2].
CAUTION: The processor socket pins are fragile and can be permanently damaged. Be careful not to bend
the pins in the processor socket when removing the processor out of the socket.

¢. Lift the processor and remove it from the processor socket [3].

@ NOTE: After removing the processor, place it in an antistatic container for reuse, return, or temporary storage. Do
not touch the bottom of the processor to avoid damage to the processor contacts. Touch only the side edges of the
processor.

Removing and Installing components 55



Installing the processor

1. Toinstall the processor:

a. Ensure that the release lever on the processor socket is fully extended in the open position. Align the notches on the
processor with the tabs on the processor socket and place the processor in the processor socket [1].

CAUTION: The pin-1 corner of the processor has a triangle that aligns with the triangle on the pin-1 corner
on the processor socket. When the processor is properly seated, all four corners are aligned at the same
height. If one or more corners of the processor are higher than the others, the processor is not seated
properly.

b. Close the processor shield by sliding it under the retention screw [2].
c. Lower the socket lever and push it under the tab to lock it [3].

56 Removing and Installing components



2. Install the following components:
a. Heat sink
b. System board shield
c. Back cover
d. Stand

3. Follow the procedure in After working inside your computer.

@ NOTE: If the processor is replaced, use the thermal grease provided in the kit to ensure that thermal conductivity is
achieved.

Base cover

Removing the base cover

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

a. Stand

b. Cable cover (optional)
c. Back cover

d. System board shield

3. Remove the four screws (M3x5) that secure the base cover to the display assembly base.

Removing and Installing components 57



4, Pry and lift the base cover off the middle frame.

58 Removing and Installing components



Installing the base cover

1. Align and place the tabs on the base cover with the slots on the middle frame [1].
2. Press the base cover down until it snaps into place on the middle frame [2].

3. Replace the four screws (M3x5) that secure the base cover to the display assembly base.

Removing and Installing components 59



4. Install the following components:

a. System board shield
b. Back cover

c. Cable cover

d. Stand

B. Follow the procedure in After working inside your computer.

Power supply unit - PSU

Removing the power supply unit -PSU

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:
a. Stand
b. Back cover
c. System board shield
d. Base cover
3. To release the PSU cable:
a. Remove the single (M3x5) screw securing the power supply socket to the 1/0 bracket [1].
b. Slide the power supply socket away to remove it from the system [2].
c. Unroute the power supply cables from the retention clips in the chassis [3].
d. Disconnect the power supply cable from the socket on the system board [4].

®| NOTE: Press the clip downward to release the power supply cable from the system board.

60 Removing and Installing components



4, Toremove the PSU:

a. Remove the single (M3x5) screw that secures the PSU to the display assembly base [1] and then slide the PSU forward
[2].

Removing and Installing components 61



b. Slide the PSU, and lift it away from the chassis .

Removing and Installing components

62



Installing the power supply unit -PSU

1. Toinstall the PSU:

a. Align and slide the PSU, in to the slot on the display assembly base [1].
b. Replace the single screw (M3x5) that secures the PSU to the chassis [2].

2. Toinstall the PSU cable:

a. Connect the power supply cable to the socket on the system board [1].

Route back the power supply cables through the retention clips in the 1/0 bracket [2].
Slide and replace the power supply socket on the chassis [3].

Replace the single (M3x5) screw securing the power supply socket to the I/0 bracket [4].

aoovo

Removing and Installing components 63



3. Install the following components:
a. Base cover
b. System board shield
c. Back cover
d. Stand

4. Follow the procedure in After working inside your computer.

Power supply unit fan - PSU fan

Removing the power supply unit fan -PSU fan

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:
a. Stand
b. Back cover
c. System board shield
d. Base cover
3. To disconnect the PSU fan cable:
a. Unroute the power supply cables from the retention clips in the PSU fan.
b. Disconnect the PSU fan cable form the socket on the system board [1].
¢. Unroute the PSU fan cable from the retention tab [2].

64 Removing and Installing components



4, To disconnect the PSU fan:

a. Remove two (M3x5) screws that secure the PSU fan to the display assembly base [1].
b. Lift the PSU fan away from the chassis [2].

Removing and Installing components 65



Installing the power supply unit -PSU fan
1. Toinstall the PSU fan:

a. Align and place the PSU fan on the chassis [1].
b. Replace the two (M3x5) screws that secure the PSU fan to the display assembly base [2].

66 Removing and Installing components



2. To replace the PSU Fan cable:

a. Route the PSU fan cable through the retention tab [1].
b. Connect the PSU fan cable to the socket on the system board [2].
c. Route the power supply cables to the retention clips on the PSU fan.

Removing and Installing components 67



3. Install the following components:

a. Base cover

b. System board shield
c. Back cover

d. Stand

4. Follow the procedure in After working inside your computer.

Input and Output bracket

Removing the Input and Output bracket

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:
a. Stand
b. Back cover
c. System board shield
d. Base cover
3. Release the PSU cable to remove the Input and Output (1/0) bracket.
4. To release the PSU cable:
a. Remove the single (M3x5) screw securing the power supply socket to the Input and Output (1/0) bracket [1].
b. Slide the power supply socket away to remove it from the system [2].
c. Unroute the power supply cables from the retention clips in the chassis [3].

68 Removing and Installing components



5. To remove the Input and Output (1/0) bracket:

a. Remove the three (M3x5) screws that secure the |/0 bracket to the display assembly base [1].
b. Lift the 170 bracket off the display assembly base [2].

Removing and Installing components 69



Installing the Input and Output bracket
1. Toinstall the Input and Output bracket (I/0) bracket:

a. Align the slots on the Input and Output bracket (1/0) bracket with the ports on the system board [1].
b. Replace the three screws (M3x5) that secure the |/0 bracket to the display assembly base [2].

70 Removing and Installing components



2. Toinstall the PSU cable:

a. Route back the power supply cables through the retention clips in the chassis [1].
b. Slide and replace the power supply socket on the chassis [2].
c. Replace the single (M3x5) screw securing the power supply socket to the I/0 bracket [3].

Removing and Installing components 71



3. Install the following components:
a. Base cover
b. System board shield
c. Back cover
d. Stand
4. Follow the procedure in After working inside your computer.

System board

Removing the system board

1. Follow the procedure in Before working inside your computer.

2. Remove the following components:
a. Stand

Back cover

Hard drive

Memory

System board shield

Intel Optane

SSD

WLAN card

System fan

j.  Heat sink

k. Processor

SQ@ 0 a0

72 Removing and Installing components



. Base cover
m. /0 bracket.

3. Disconnect the following cables from the system board:
Power supply unit cable [1]

Camera cable [2]

Touch cable [3]

SIO_power,SIO_signal, UAJ, INT _speaker,DMIC cables [4]
LVDC cable [5]

Power button board cable [6]

PSU fan cable [7]

Back light cable [8]

4. Remove the eight screws (M3x5) that secure the system board to the display assembly base [1].
5. Lift the system board off the display assembly base [2].

Removing and Installing components 73



Installing the system board

1. Align the screw slots on the system board with the screw slots on the display assembly base [1].
2. Replace the eight screws (M3x5) that secure the system board to the display assembly base [2].

74 Removing and Installing components



. Connect the following cables to the system board:

Power supply unit cable [1]

Camera cable [2]

Touch cable [3]

SIO_power,SIO_signal, UAJ, INT _speaker,DMIC cables [4]
LVDC cable [5]

Power button board cable [6]

PSU fan cable [7]

Back light cable [8]

Removing and Installing components 75



4. Install the following components:
I/0O bracket

Base cover
Processor

Heat sink

System fan

WLAN card

SSD

Intel Optane
System board shield
Memory

Hard drive

I.  Back cover

m. Stand

5. Follow the procedure in After working inside your computer

T T TQ 0 Q00T

Speakers

Removing the speakers

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

a. Stand
b. Back cover

76 Removing and Installing components



c. System board shield
d. Base cover
e. |/0 bracket
3. To disconnect the speakers:
a. Disconnect the speaker cable from the system board [1].
b. Unroute the speaker cable from the routing guide on the display assembly base [2].

c. Remove the four screws (M3x4+7.1) that secure the speakers to the display-assembly base [1].
d. Lift the speakers and the speaker cable off the display assembly base [2].

Removing and Installing components 77



Installing the speakers

1. To replace the speakers:

a. Place the speakers on the display assembly base and align the screw slots on the speakers with the screw slots on the
display assembly base [1].
b. Replace the eight screws (M3x4+7.1) that secure the speakers to the display assembly base [2].

78 Removing and Installing components



2.

c. Route the speaker cable through the routing guides on the display assembly base [1].
d. Connect the speaker cable to the socket on the system board [2].

Install the following components:

Removing and Installing components

79



aooo

e.

|/0O bracket

Base cover

System board shield
Back cover

Stand

3. Follow the procedure in After working inside your computer.

Power button board

Removing the power button board

80

Follow the procedure in Before working inside your computer.

Remove the following components:

a
b
C.
d
e
f

Stand

Back cover

System board shield
Base cover

PSU

PSU fan

To remove the power button board:

o

b
c.
d

Open the latch, and disconnect the power button board cable from the system board [1].
Slide the power button board cable out from under the antenna cables [2].
Peel off the power button board cable from the display assembly base [3].
Slide the power button board cable out from under the antenna cables [4].

Removing and Installing components



e. Remove the single screw (M3x5) that secures the power button board to the middle frame [1].
f. Lift the power-button board, along with its cable, off the middle frame [2].

Installing the power button board

1. Toinstall the speakers:
a. Using the alignment post, place the power button board into its slot on the middle frame [1].
b. Replace the single screw (M3x5) that secures the power button board to the middle frame [2].

Removing and Installing components 81



c. Slide the power button board cable under the antenna cable [1].

d. Slide the power button board cable under the antenna cable, then adhere the power button board cable to the display
assembly base [2].

e. Slide the power button board cable into the socket on the system board and close the latch to secure the cable [3].

82 Removing and Installing components



2. Install the following components:
a. PSU fan
b. PSU
C. Base cover
d. System board shield
e. Back cover
f. Stand

3. Follow the procedure in After working inside your computer.

Microphones

Removing the microphones

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

Stand

Back cover

System board shield

Base cover

170 bracket

Speakers

-0 Q0T

3. To remove the microphone and cable:
a. Disconnect the microphone module cable from the system board [1].

b. Unroute the microphone module cable from the routing guides on the display assembly base [2].

Removing and Installing components

83



¢. Remove the two screws (M2x2.5) that secure the microphone modules to the middle frame [1,3].
d. Lift the microphone modules off the slots on the middle frame [2,4].

84 Removing and Installing components



Installing the microphones

1. Toinstall the microphone and cable:
a. Align and place the microphone modules to the slots on the middle frame [1,3].

@ NOTE: Match the numbers on the microphone modules to the numbers on the middle frame while placing the
microphone modules on the middle frame.

b. Replace the two screws (M2x2.5) that secure the microphone modules to the middle frame [4,2].

Removing and Installing components 85



¢. Route the microphone module cable through the routing guides on the display assembly base [1].
d. Connect the microphones module cable to the socket on the system board [2].

86 Removing and Installing components



2. Install the following components:

a.

b
c.
d.
e
f

Speakers

|70 bracket

Base cover

System board shield
Back cover

Stand

3. Follow the procedure in After working inside your computer.

Input and Output board

Removing the Input and Output board

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:

-0 Q00T

Stand

Back cover

System board shield
Base cover

170 bracket
Speakers

3. Toremove the Input and Output board (I/0) board shield:

a.

b. Remove the I/0 board cable, I/0-board power cable, and headset port cable from the routing guides on the display

Disconnect the I/0 board cable, I/0 board power cable, and headset port cable from the system board [1].

@l NOTE: Use the pull tab to disconnect the I/0 board cable from the system board.

assembly base [2].

Removing and Installing components

87



¢. Remove the two screws (M3x5) securing the I/0 board shield to the display assembly base [3].
d. Lift the I/0 board shield from the display assembly base [4].

4, Toremove the |/0 board:

a. Remove the headset port cable from the routing guide on the 1/0 board [1].
b. Remove the two screws (M3x5) that secure the |/0 board to the display assembly base [2].
c. Lift the I70 board with its cables from the display assembly base [3].

88 Removing and Installing components



Installing the input and output board

1. To replace the I/0 board:
a. Place and align the Input and Output board (1/0) board onto the display assembly base [1].
b. Replace the two screws (M3x5) that secure the I/0 board to the display assembly base [2].
c. Route the headset port cable through the routing guide on the 1/0 board [3].

Removing and Installing components

89



2. To replace the I/0 board shield:
a. Place and align the screw slots on the I/0 board shield to the slots on the display assembly base [1].
b. Replace the two screws (M3x5) that secure the I/0 board shield to the display assembly base [2].
c. Route the headset port cable, 1/0 board cable, and I/0 board power cable through the routing guides on the display
assembly base [3].
d. Connect the I/0 board cable, I/0 board power cable, and headset port cable to the system board [4].

90 Removing and Installing components



3. Install the following components:

a. Speakers

b. 170 bracket

Cc. Base cover

d. System board shield
e. Back cover

f. Stand

4. Follow the procedure in After working inside your computer.

Headset port

Removing the headset port

1. Follow the procedure in Before working inside your computer.

2. Remove the following components:

Stand

Back cover

System board shield

Base cover

|70 bracket

Speakers

|70 board

3. Remove the single (M3x5) screw that secures the headset port to the display assembly base [1].
4. Lift the headset port with its cable from the display assembly base [2].

@ *0 a0 oo

Removing and Installing components 91



Installing the headset port

1. Slide the headset port into its slot on the middle frame and align the screw slot on the headset port to the screw slot on the
display assembly base [1].

2. Replace the single (M3x5) screw that secures the headset port to the display assembly base [2].

92 Removing and Installing components



3. Install the following components:

a.

@0 a0CT

|/O bracket
Speakers

170 board

Base cover

System board shield
Back cover

Stand

4. Follow the procedure in After working inside your computer.

Antennas

Removing the antennas

1. Follow the procedure in Before working inside your computer.

2. Remove the following components:

a.

Se r0 0o

Stand

Back cover

System board shield
Base cover

|70 bracket
Speakers

WLAN card

170 board

Removing and Installing components

93



i. PSU
j. PSU fan
3. Toremove the antenna :
a. Remove the antenna cables from the routing guides on the display assembly base [1,2].

b. Carefully peel the tape that secures the antenna cables (2) to the middle frame [1,4].
c. Remove the two screws (M2x2.5) that secure the antenna modules (2) to the middle frame [2,5].
d. Release the antenna modules (2) from the tabs and lift the antenna modules off the middle frame [3,6].

94 Removing and Installing components



Installing the antennas

1. To replace the antenna modules:
a. Align the antenna modules (2) with the slots on the middle frame [1,4].
b. Replace the two screws (M2x2.52) that secure the antenna modules (2) to the middle frame [2,5].
¢. Adhere the tape that secures the antenna cables (2) to the middle frame [3,6].

Removing and Installing components 95



d. Route the antenna cables through the routing guides on the display assembly base [1,2].

96 Removing and Installing components



2. Install the following components:
PSU fan
PSU
170 board
WLAN card
Speakers
|/0O bracket
Base cover
System board shield
Back cover
j.  Stand
3. Follow the procedure in After working inside your computer.

~TQ 0 Q0T

Display panel

Removing the display panel

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:
a. Stand
Back cover
System board shield
Base cover
170 bracket
System fan
Hard drive
WLAN card

Se@r0o0T

Removing and Installing components

97



i. System board
j. PSU

k. PSU fan
. Camera

3. Remove the display backlight cable from the routing guides on the display assembly base [1].
4. Remove the 8 screws (M3x5) that secure the middle frame and display assembly base to the display panel [2].

NOTE: The screws that secure the middle frame and display assembly base to the display panel are silver in color and
etched with "LCD" around the screw holes.

—-
—-
e—-

—=f

B
- a, .

.(

S —

B. Place the system in upright position, holding the display panel and display assembly base, carefully release the display panel
from middle frame and display assembly base [1].

6. Slide the display backlit cable through the slot on the display assembly base [2].
7. Lift the display panel off the middle frame and display assembly base [3].

98 Removing and Installing components



Installing the display panel

1.

Place the display assembly base in its upright position, and slide the display panel into the slot between the middle frame and
the display assembly base [1].

Route the touchscreen cable through the routing guide on the display assembly base.
Push the display backlight cable through the slots on the display assembly base [2].

Push the display panel towards the display assembly base, closing the gap between the display panel and the middle frame
[3].

@ NOTE: Ensure the display cable, touchscreen cable, and display backlight cable has been fully threaded through the
slots on the display assembly base before closing the gap between the display panel and the middle frame.

Removing and Installing components 99



5. Place the display assembly base on a clean and flat surface with the display panel facing down.
6. Replace the 8 (M3x5) screws that secure the display panel to the middle frame and display assembly base 1.
7. Route the display backlit cable through the routing guides on the display assembly base 2.
@ NOTE: The screws that secure the middle frame and display assembly base to the display panel are silver in color and
etched with "LCD" around the screw holes.

100 Removing and Installing components



8. Install the following components:

o

T T TQ 0000

Camera

PSU fan

PSU

System board
WLAN card
Hard drive
System fan
|70 bracket
Base cover
System board shield
Back cover
Stand

9. Follow the procedure in After working inside your computer.

Display cable

Removing the display cable

1.

Follow the procedure in Before working inside your computer.

2. Remove the following components:

a.
b.
c.

Stand
Back cover
Hard drive

Removing and Installing components

101



System board shield
WLAN card
System fan
Camera
Base cover
PSU
PSU fan
170 bracket
System board
. Speakers
Power button board
Microphones
|70 board
Headset port
Antennas
Display panel
3. Toremove the display cable:
a. To release the cable, press the tabs on both sides [1].
b. Disconnect the cable, and lift it away from the display assembly base [2].

®» QT OF3TRFRTOSQOQ

Installing the display cable

1. Toinstall the display cable:
a. Press and hold the tabs on both sides [1].

102 Removing and Installing components



b. Connect the cable to the display assembly base.

[2].
2. Install the following components:
Display panel
Antennas
Headset port
|/0O board
Microphones
Power button board
Speakers
System board
|70 bracket
PSU fan
PSU
Base cover
. Camera
System fan
WLAN card
System board shield
Hard drive
Back cover
Stand

“ "0V OS3ITRTOSQAOQ0DTD

3. Follow the procedure in After working inside your computer.

Removing and Installing components

103



Middle frame

Removing the middle frame

1. Follow the procedure in Before working inside your computer.
2. Remove the following components:
Stand
Back cover
Hard drive
System board shield
WLAN card
System fan
Camera
Base cover
PSU
PSU fan
I/0O bracket
System board
. Speakers
Power button board
Microphones
I/0O board
Headset port
Antennas
Display panel
3. Remove the 11 screws (M3x5) that secure the middle frame to the display assembly base [1].

»¥ "DV OS3ITRTTSQHNOQ0DTO

4. Slide and lift to release the tabs on the middle frame from the slots on the display assembly base [2].

B. Lift the middle frame off the display assembly base [1].

104 Removing and Installing components



Installing the middle frame

1. Starting from the location shown, slide and align the middle frame to the slots on the display assembly base, and then snap
the middle frame into place on the display assembly base [1,2].

Removing and Installing components 105



2. Press and secure and the tabs on the middle frame to the slots on the display assembly base [1].
3. Replace the 11 screws (M3x5) that secure the middle frame to the display assembly base [2].

106 Removing and Installing components



4. Install the following components:

© "0V OS3ITRTIOSQAOQ0 DD

Display panel
Antennas
Headset port
I/0O board
Microphones
Power button board
Speakers
System board
I/0O bracket
PSU fan

PSU

Base cover

. Camera

System fan

WLAN card

System board shield
Hard drive

Back cover

Stand

5. Follow the procedure in After working inside your computer.

Removing and Installing components

107



Troubleshooting your computer

You can troubleshoot your computer using indicators like diagnostic lights, beep codes, and error messages during the operation
of the computer.

Topics:

¢ Enhanced Pre-Boot System Assessment — ePSA diagnostics
*  Diagnostics

¢ Camera status indicator

. LCD built in self test - BIST

Enhanced Pre-Boot System Assessment — ePSA
diagnostics

The ePSA diagnostics (also known as system diagnostics) performs a complete check of your hardware. The ePSA is embedded
with the BIOS and is launched by the BIOS internally. The embedded system diagnostics provides a set of options for particular
devices or device groups allowing you to:

The ePSA diagnostics can be initiated by the FN+PWR buttons while powering on the computer.

Run tests automatically or in an interactive mode

Repeat tests

Display or save test results

Run thorough tests to introduce additional test options to provide extra information about the failed device(s)
View status messages that inform you if tests are completed successfully

View error messages that inform you of problems encountered during testing

@ NOTE: Some tests for specific devices require user interaction. Always ensure that you are present at the computer
terminal when the diagnostic tests are performed.

Running the ePSA Diagnostics

Invoke diagnostics boot by either of the methods that are suggested below:

1. Power on the computer.

2. As the computer boots, press the F12 key when the Dell logo is displayed.

3. In the boot menu screen, use Up/Down arrow key to select the Diagnostics option and then press Enter.
NOTE: The Enhanced Pre-boot System Assessment window displays, listing all devices detected in the computer.
The diagnostics starts running the tests on all the detected devices.

4. Press the arrow in the lower-right corner to go to the page listing.
The detected items are listed and tested.

5. To run a diagnostic test on a specific device, press Esc and click Yes to stop the diagnostic test.
6. Select the device from the left pane and click Run Tests.

7. If there are any issues, error codes are displayed.
Note the error code and contact Dell.

Diagnostics

Power status light: Indicates the power status.

108 Troubleshooting your computer



Solid Amber — The system is unable to boot to the operating system. This indicates that the power supply or another device in
the system is failing.

Blinking Amber — The system is unable to boot to the operating system. This indicates that the power supply is normal but
another device in the system is failing or not installed properly.

®| NOTE: To determine the device that is failing, see the light patterns .

Off — System is in hibernation or turned off.
The power status light blinks amber along with beep codes indicating failures.

For example, the power status light blinks amber two times followed by a pause, and then blinks amber three times followed by a
pause. This 2,3 pattern continues until the computer is turned off indicating the Recovery image is not found.

The following table shows different light patterns and what they indicate:

Table 4. Diagnostic LED/Beep codes

LED # of Flashes Problem description Faults

2.1 Faulty system board Faulty system board

2,2 Faulty system board, power supply unit Faulty system board, power supply unit (PSU), or

(PSU), or cabling cabling

2,3 Faulty system board, CPU, or DIMMS Faulty system board, power supply unit (PSU), or
DIMMS

2.4 Faulty coin cell battery Faulty coin cell battery

2,5 BIOS Recovery AutoRecovery trigger, recovery image is not found or
is invalid

2,6 CPU CPU Error

2,7 Memory Memory SPD failure

3,3 Memory No memory detected

3,5 Memory Modules incompatible or invalid configuration

3,6 BIOS Recovery On-demand trigger, recovery image is not found

3,7 BIOS Recovery On-demand trigger, recovery image is invalid

The system may emit a series of beeps during start-up if the errors or problems cannot be displayed. The repetitive beep codes
help the user troubleshoot problems with the system.

Camera status indicator

Camera status light: Indicates whether the camera is in use.

e Solid white — Camera is in use.
e Off — Camera is not in use.

LCD built in self test - BIST

All-in-One (AIO) systems supports LCD BIST similar to any other Dell systems that have BIST test implemented. It allows the
user to isolate the LCD during troubleshooting to determine which sub-system is at fault. The main difference is the lack of

an integrated keyboard scan controller in the AIO. When BIST is initiated, an internal generated pattern from the LCD will be
emitted for user's observation. This pattern will go by sequence through this pattern, Red- Green-Blue-White-Blue where each
pattern is emitted for 2 to 3 seconds.

The following images displays the pattern of the colors on the LCD:

Standard display

Troubleshooting your computer 109



PATTLRMN PATTERN 3

=7 ToPATTERN 4
2sec
PATTERN 5
—— ==» ToPATTERNI
2sec 2sec

GREEN BLUE

WHITE BLACK
PATTERN 4

Alternative display

PATTERN 1 PATTERN2 PATTERN 3

==> ToPATTERN 4

2sec 2sec 2sec

Black White REED
PATTERN 4 PATTERN 3

==> ToPATTERN ]

2s0¢

GREEN BLUE

Invoking BIST

To invoke the LCD BIST, turn on the system and press and hold the Display Built-in Self Test button plus the Power button
together. Release the buttons when Red- Green-Blue-White-Blue pattern is displayed on screen.

110 Troubleshooting your computer



Getting help

Topics:

Contacting Dell

Contacting Dell

NOTE: If you do not have an active Internet connection, you can find contact information on your purchase invoice, packing
slip, bill, or Dell product catalog.

Dell provides several online and telephone-based support and service options. Availability varies by country and product, and
some services may not be available in your area. To contact Dell for sales, technical support, or customer service issues:

1.

2.
3.
4

Go to Dell.com/support.

Select your support category.

Verify your country or region in the Choose a Country/Region drop-down list at the bottom of the page.
Select the appropriate service or support link based on your need.

Getting help M



	Dell OptiPlex 5270 All-in-One Service Manual 
	Contents
	Working on your computer
	Safety instructions
	Turning off your computer — Windows 10
	Before working inside your computer
	After working inside your computer

	Technology and components
	DDR4
	USB features
	HDMI

	Major components of your system
	Removing and Installing components
	Recommended tools
	Screw size list
	System board layout
	Rubber feet
	Removing the rubber feet
	Installing the rubber feet

	Cable cover - optional
	Removing the cable cover
	Installing the cable cover

	Stand
	Removing the stand
	Installing the stand

	Back cover
	Removing the back cover
	Installing the back cover

	Hard drive
	Removing the hard drive assembly
	Installing the hard drive assembly

	Memory module
	Removing the memory module
	Installing the memory module

	System board shield
	Removing the system board shield
	Installing the system board shield

	Intel Optane
	Removing the Intel Optane card
	Installing the Intel Optane card

	Solid State Drive -SSD
	Removing the SSD card
	Installing the SSD card

	Solid State Drive -2230
	Removing the 2230 SSD card
	Installing the 2230 SSD card

	WLAN card
	Removing the WLAN card
	Installing the WLAN card

	System fan
	Removing the system fan
	Installing the system fan

	Heat sink
	Removing the heat sink - UMA
	Installing the heat sink - UMA

	Pop-Up Camera
	Removing the pop-up camera
	Installing the pop-up camera

	Coin cell battery
	Removing the coin cell battery
	Installing the coin cell battery

	Processor
	Removing the processor
	Installing the processor

	Base cover
	Removing the base cover
	Installing the base cover

	Power supply unit - PSU
	Removing the power supply unit -PSU
	Installing the power supply unit -PSU

	Power supply unit fan - PSU fan
	Removing the power supply unit fan -PSU fan
	Installing the power supply unit -PSU fan

	Input and Output bracket
	Removing the Input and Output bracket
	Installing the Input and Output bracket

	System board
	Removing the system board
	Installing the system board

	Speakers
	Removing the speakers
	Installing the speakers

	Power button board
	Removing the power button board
	Installing the power button board

	Microphones
	Removing the microphones
	Installing the microphones

	Input and Output board
	Removing the Input and Output board
	Installing the input and output board

	Headset port
	Removing the headset port
	Installing the headset port

	Antennas
	Removing the antennas
	Installing the antennas

	Display panel
	Removing the display panel
	Installing the display panel

	Display cable
	Removing the display cable
	Installing the display cable

	Middle frame
	Removing the middle frame
	Installing the middle frame


	Troubleshooting your computer
	Enhanced Pre-Boot System Assessment — ePSA diagnostics
	Running the ePSA Diagnostics

	Diagnostics
	Camera status indicator
	LCD built in self test - BIST

	Getting help
	Contacting Dell


